Nonlinear Functional Analysis and Applications Vol. 21, No. 1 (2016), pp. 95-104

http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright  $\bigodot$  2016 Kyungnam University Press



# STABILITY OF PEXIDERIZED CAUCHY FUNCTIONAL EQUATION IN FELBIN'S TYPE FUZZY NORMED LINEAR SPACES

# G. Zamani Eskandani

Faculty of Sciences, Department of Mathematics University of Tabriz, Tabriz, Iran e-mail: zamani@tabrizu.ac.ir

**Abstract.** In this paper, we investigate the generalized Hyers-Ulam stability of Pexiderized Cauchy functional equation in Felbin's type fuzzy normed linear spaces and some applications of the main result to Banach spaces are also given.

### 1. INTRODUCTION AND PRELIMINARIES

Speaking of the stability of a functional equation, we follow the question raised in 1940 by Ulam:

When is it true that the solution of an equation differing slightly from a given one, must of necessity be close to the solution of the given equation?

The first partial answer (in the case of Cauchy's functional equation in Banach spaces) to Ulam's question was given by Hyers (see [6]). This result was generalized by Aoki [1] for additive mappings and independently by Rassias [12] for linear mappings by considering an *unbounded Cauchy difference*. In 1994, a further generalization was obtained by Găvruta [5]. Rassias [10, 11] generalized Hyers result. During the last two decades, a number of papers and research monographs have been published on various generalizations and applications of the generalized Hyers-Ulam stability to a number of functional equations and mappings (see [3, 8, 9, 13]). We also refer the readers to the books: Czerwik [2] and Hyers, Isac and Rassias [7].

<sup>&</sup>lt;sup>0</sup>Received June 22, 2015. Revised August 19, 2015.

<sup>&</sup>lt;sup>0</sup>2010 Mathematics Subject Classification: 39B82, 46B03.

<sup>&</sup>lt;sup>0</sup>Keywords: Fuzzy real number, Fuzzy normed space, generalized Hyers-Ulam stability.

We consider some basic concepts concerning in the theory of fuzzy real numbers. Let  $\eta$  be a fuzzy subset on  $\mathbb{R}$ , i.e., a mapping  $\eta : \mathbb{R} \longrightarrow [0, 1]$  associating with each real number t its grade of membership  $\eta(t)$ .

**Definition 1.1.** A fuzzy subset  $\eta$  on  $\mathbb{R}$  is called a fuzzy real number, whose  $\alpha$ -level set is denoted by  $[\eta]_{\alpha}$ ; i.e.,  $[\eta]_{\alpha} = \{t : \eta(t) \geq \alpha\}$ , if it satisfies two axioms:

- (N1) There exists  $t_0 \in \mathbb{R}$  such that  $\eta(t_0) = 1$ .
- (N2) For each  $\alpha \in (0,1]$ ;  $[\eta]_{\alpha} = [\eta_{\alpha}^{-}, \eta_{\alpha}^{+}]$  where  $-\infty < \eta_{\alpha}^{-} \le \eta_{\alpha}^{+} < +\infty$ .

The set of all fuzzy real numbers is denoted by  $F(\mathbb{R})$ . If  $\eta \in F(\mathbb{R})$  and  $\eta(t) = 0$  whenever t < 0, then  $\eta$  is called a non-negative fuzzy real number and  $F^*(\mathbb{R})$  denotes the set of all non-negative fuzzy real numbers. The number  $\overline{0}$  stands for the fuzzy real number as:

$$\overline{0}(t) = \begin{cases} 1, & t = 0, \\ 0, & t \neq 0. \end{cases}$$

Clearly,  $\overline{0} \in F^*(\mathbb{R})$ . Also the set of all real numbers can be embedded in  $F(\mathbb{R})$  because if  $r \in (-\infty, +\infty)$ , then  $\overline{r} \in F(R)$  satisfies  $\overline{r}(t) = \overline{0}(t-r)$ .

Arithmetic operations  $\oplus, \ominus, \otimes$  and  $\oslash$  on  $F(\mathbb{R}) \times F(\mathbb{R})$  can be defined as in [4]:

$$(\eta \oplus \delta)(t) = \sup_{s \in \mathbb{R}} \{\eta(s) \land \delta(t-s)\}, \qquad (t \in \mathbb{R}),$$
(1.1)

$$(\eta \ominus \delta)(t) = \sup_{s \in \mathbb{R}} \{\eta(s) \land \delta(s-t)\}, \qquad (t \in \mathbb{R}),$$
(1.2)

$$(\eta \otimes \delta)(t) = \sup_{s \in \mathbb{R} - \{\circ\}} \{\eta(s) \wedge \delta(\frac{t}{s})\}, \qquad (t \in \mathbb{R}),$$
(1.3)

$$(\eta \oslash \delta)(t) = \sup_{s \in \mathbb{R}} \{\eta(st) \land \delta(s)\}, \qquad (t \in \mathbb{R}).$$
(1.4)

**Definition 1.2.** For  $k \in \mathbb{R}$ - $\{0\}$ , fuzzy scalar multiplication  $k \odot \eta$  is defined as  $(k \odot \eta)(t) = \eta(\frac{t}{k})$  and  $0 \odot \eta$  is defined to be  $\overline{0}$ .

**Definition 1.3.** Let  $\eta$  be a non-negative fuzzy real number and  $p \neq 0$  be a real number. Define  $\eta^p$  as:

$$\eta^{p}(t) = \begin{cases} \eta(t^{\frac{1}{p}}), & t \ge 0, \\ 0, & t < 0, \end{cases}$$

and  $\eta^0 = \overline{1}$ .

It is well-known that  $\eta^p$  is a non-negative fuzzy real number and  $[\eta^p]_{\alpha} = [(\eta^-_{\alpha})^p, (\eta^+_{\alpha})^p]$  if p > 0 and  $[\eta^p]_{\alpha} = [(\eta^+_{\alpha})^p, (\eta^-_{\alpha})^p]$  if p < 0.

**Definition 1.4.** Define a partial ordering  $\leq$  in F(R) by  $\eta \leq \delta$  if and only if  $\eta_{\alpha}^- \leq \delta_{\alpha}^-$  and  $\eta_{\alpha}^+ \leq \delta_{\alpha}^+$  for all  $\alpha \in (0, 1]$ . The strict inequality in F(R) is defined by  $\eta \prec \delta$  if and only if  $\eta_{\alpha}^- < \delta_{\alpha}^-$  and  $\eta_{\alpha}^- < \delta_{\alpha}^-$  for all  $\alpha \in (0, 1]$ .

**Definition 1.5.** Let X be a real linear space; L and R (respectively, left norm and right norm) be symmetric and non-decreasing mappings in both arguments from  $[0,1] \times [0,1]$  into [0,1] satisfying L(0,0) = 0 and R(1,1) = 1. The mapping  $\|.\|$  from X into  $F^*(R)$  is called a fuzzy norm if for  $x \in X$  and  $\alpha \in (0,1]$ :

 $\begin{array}{l} (\mathrm{A1}) \ \|x\| = 0 \ \text{if and only if } x = 0; \\ (\mathrm{A2}) \ \|rx\| = \mid r \mid \bigodot \ \|x\| \ \text{for all } x \in X \ \text{and } r \in (-\infty; +\infty); \\ (\mathrm{A3}) \ \text{For all } x, y \in X: \\ (\mathrm{A3L}) \ \text{if } s \leq \|x\|_1^-, t \leq \|y\|_1^- \ \text{and } s + t \leq \|x + y\|_1^-, \ \text{then } \|x + y\|(s + t) \geq L(\|x\|(s), \|y\|(t)); \\ (\mathrm{A3R}) \ \text{if } s \leq \|x\|_1^-, t \leq \|y\|_1^- \ \text{and } s + t \geq \|x + y\|_1^-, \ \text{then } \|x + y\|(s + t) \leq R(\|x\|(s), \|y\|(t)). \end{array}$ 

The quaternary  $(X, \|.\|, L, R)$  is called a fuzzy normed linear space (abbreviated to FNLS).

**Definition 1.6.** Let  $(X, \|.\|, L, R)$  be a fuzzy normed linear space and  $\lim_{a\to 0^+} R(a, a) = 0$ . A sequence  $\{x_n\} \subseteq X$  is said to converge to  $x \in X$ , denoted by  $\lim_{n\to\infty} x_n = x$ , if  $\lim_{n\to\infty} \|x_n - x\|_{\alpha}^+ = 0$  for every  $\alpha \in (0, 1]$  and is called a Cauchy sequence if  $\lim_{m,n\to\infty} \|x_n - x_m\|_{\alpha}^+ = 0$  for every  $\alpha \in (0, 1]$ . A subset  $A \subseteq X$  is said to be complete if every Cauchy sequence in A, converges in A. The fuzzy normed space  $(X, \|.\|, L, R)$  is said to be a fuzzy Banach space if it is complete.

**Theorem 1.7.** ([15]) Let  $(X, \|.\|, L, R)$  be an FNLS and suppose that:

- (R-1)  $R(a,b) \leq \max(a,b),$
- (R-2) For any  $\alpha \in (0, 1]$ , there exists  $\beta \in (0, \alpha]$  such that  $R(\beta, y) \leq \alpha$  for all  $y \in (0, \alpha)$ ,
- (R-3)  $\lim_{a\to 0^+} R(a,a) = 0$ ,

then

$$(R-1) \Rightarrow (R-2) \Rightarrow (R-3).$$

**Theorem 1.8.** ([15]) Let  $(X, \|.\|, L, R)$  be an FNLS. Then we have the following:

- (1) If  $R(a,b) \le \max(a,b)$ , then for any  $\alpha \in (0,1]$ ,  $||x+y||_{\alpha}^+ \le ||x||_{\alpha}^+ + ||y||_{\alpha}^+$ for all  $x, y \in X$ .
- (2) If (R-2), then for any  $\alpha \in (0,1]$ , there exists  $\beta \in (0,\alpha]$  such that  $||x+y||_{\alpha}^+ \leq ||x||_{\beta}^+ + ||y||_{\alpha}^+$  for all  $x, y \in X$ .
- (3) If  $\lim_{a\to 0^+} R(a,a) = 0$ , then for any  $\alpha \in (0,1]$ , there exists  $\beta \in (0,\alpha]$  such that  $||x+y||_{\alpha}^+ \le ||x||_{\beta}^+ + ||y||_{\beta}^+$  for all  $x, y \in X$ .

**Theorem 1.9.** ([15]) Let  $(X, \|.\|, L, R)$  be an FNLS satisfying (R-2). Then:

- (1) For each  $\alpha \in (0,1]$ ,  $\|\cdot\|^+$  is a continuous mapping from X into  $\mathbb{R}$ .
- (2) For any  $n \in \mathbb{Z}^+$ ,  $x_i \in X$  (i = 1, 2, ..., n) and  $\alpha \in (0, 1]$  there exists  $\beta \in (0, \alpha]$  such that

$$\left\|\sum_{i=1}^{n} x_{i}\right\|_{\alpha}^{+} \leq \left\|\sum_{i=1}^{n} x_{i}\right\|_{\beta}^{+}.$$

In this paper, we investigate the generalized Hyers-Ulam stability of Pexiderized Cauchy functional equation in Felbin's type fuzzy normed linear spaces and some applications of our results in the stability of Pexiderized Cauchy functional equation from a linear space to a Banach space will be exhibited. Throughout this paper, assume that k is a fixed positive integer greater than 1.

# 2. Generalized Hyers-Ulam stability of Pexiderized Cauchy functional equation

In this section, we prove the generalized Hyers–Ulam stability of Pexiderized Cauchy functional equation in Felbin's type fuzzy normed linear spaces.

**Theorem 2.1.** Let X be a linear space and (Y, ||.||, L, R) be a fuzzy Banach space satisfying (R-1). Let  $f, g, h : X \longrightarrow Y$  be mappings such that g(0) = h(0) = 0 and there exists a function  $\varphi : X \times X \longrightarrow F^*(\mathbb{R})$  such that

$$\lim_{n \to \infty} \frac{1}{k^n} \varphi(k^n x, k^n y)^+_{\alpha} = 0, \qquad (2.1)$$

$$\sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_{k,\alpha}(k^i x) < \infty$$
(2.2)

and

$$||f(x+y) - g(x) - h(y)|| \le \varphi(x,y),$$
 (2.3)

for all  $x, y \in X$  and  $\alpha \in (0, 1]$ . Then there exists a unique additive mapping  $A_k: X \longrightarrow Y$  such that for all  $\alpha \in (0, 1]$  there exists  $\beta \in (0, \alpha]$  such that

$$\left\| f(x) - A_k(x) \right\|_{\alpha}^+ \leq \frac{1}{k} \sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_{k,\beta}(k^i x),$$

$$\left| g(x) - A_k(x) \right\|_{\alpha}^+ \leq \frac{1}{k} \sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_{k,\beta}(k^i x) + \varphi(x,0)_{\alpha}^+,$$

$$\left| h(x) - A_k(x) \right\|_{\alpha}^+ \leq \frac{1}{k} \sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_{k,\beta}(k^i x) + \varphi(0,x)_{\alpha}^+,$$

$$(2.4)$$

for all  $x \in X$ , where

$$\vartheta_{k,\alpha}(x) \coloneqq \sum_{i=1}^{k-1} \left[ \varphi(ix,x)^+_{\alpha} + \varphi(0,ix)^+_{\alpha} \right] + (k-1)\varphi(x,0)^+_{\alpha}.$$

*Proof.* Replacing y = 0 in (2.3), we get

$$||f(x) - g(x)|| \le \varphi(x, 0).$$
 (2.5)

Replacing x = 0 in (2.3), we get

$$||f(y) - h(y)|| \leq \varphi(0, y).$$
 (2.6)

It follows from (2.5) and (2.6) that

$$||f(x) - g(x)||_{\alpha}^{+} \le \varphi(x, 0)_{\alpha}^{+}, \qquad (2.7)$$

$$||f(y) - h(y)||_{\alpha}^{+} \le \varphi(0, y)_{\alpha}^{+}, \qquad (2.8)$$

for all  $\alpha \in (0,1]$ . It follows from (2.3), (2.7), (2.8) and Theorem 1.8 that

$$\|f(x+y) - f(x) - f(y)\|_{\alpha}^{+} \le \varphi(x,y)_{\alpha}^{+} + \varphi(x,0)_{\alpha}^{+} + \varphi(0,y)_{\alpha}^{+}, \qquad (2.9)$$

for all  $x, y \in X$  and  $\alpha \in (0, 1]$ . Replacing y by x in (2.9), we get

$$|f(2x) - 2f(x)||_{\alpha}^{+} \le \varphi(x, x)_{\alpha}^{+} + \varphi(x, 0)_{\alpha}^{+} + \varphi(0, x)_{\alpha}^{+}, \qquad (2.10)$$

for all  $x \in X$  and  $\alpha \in (0, 1]$ . Replacing y by 2x in (2.9), we get

$$||f(3x) - f(x) - f(2x)||_{\alpha}^{+} \le \varphi(x, 2x)_{\alpha}^{+} + \varphi(x, 0)_{\alpha}^{+} + \varphi(0, 2x)_{\alpha}^{+}, \qquad (2.11)$$

for all  $x \in X$  and  $\alpha \in (0, 1]$ . It follows from (2.10) and (2.11) that

$$\|f(3x) - 3f(x)\|_{\alpha}^{+} \leq \varphi(x, x)_{\alpha}^{+} + \varphi(x, 2x)_{\alpha}^{+} + \varphi(0, x)_{\alpha}^{+} + \varphi(0, 2x)_{\alpha}^{+} + 2\varphi(x, 0)_{\alpha}^{+},$$

for all  $x \in X$  and  $\alpha \in (0, 1]$ . By induction on k, we have

$$\|f(kx) - kf(x)\|_{\alpha}^{+} \le \vartheta_{k,\alpha}(x), \qquad (2.12)$$

where

$$\vartheta_{k,\alpha}(x) =: \sum_{i=1}^{k-1} \left[ \varphi(ix,x)^+_\alpha + \varphi(0,ix)^+_\alpha \right] + (k-1)\varphi(x,0)^+_\alpha.$$

Replacing x by  $k^n x$  and dividing both sides of (2.12) by  $k^{(n+1)}$ , we get

$$\left\|\frac{1}{k^{(n+1)}}f(k^{n+1}x) - \frac{1}{k^n}f(k^nx)\right\|_{\alpha}^+ \le \frac{1}{k^{(n+1)}}\vartheta_{k,\alpha}(k^nx),\tag{2.13}$$

for all  $x \in X$ ,  $\alpha \in (0, 1]$  and all non-negative integers n. By Theorem 1.9 and inequality (2.13), we conclude that for all  $\alpha \in (0, 1]$  there exists  $\beta \in (0, \alpha]$  such that

$$\left\|\frac{1}{k^{(n+1)}}f(k^{n+1}x) - \frac{1}{k^m}f(k^mx)\right\|_{\alpha}^+$$

$$\leq \sum_{i=m}^n \left\|\frac{1}{k^{(i+1)}}f(k^{i+1}x) - \frac{1}{k^i}f(k^ix)\right\|_{\beta}^+ \leq \frac{1}{k}\sum_{i=m}^n \frac{1}{k^i}\vartheta_{k,\beta}(k^ix),$$
(2.14)

for all  $x \in X$  and all non-negative integers m and n with  $n \ge m$ . Passing the limit  $n, m \to \infty$  in (2.14), we get

$$\lim_{n,m\to\infty} \left\| \frac{1}{k^n} f(k^n x) - \frac{1}{k^m} f(k^m x) \right\|_{\alpha}^+ = 0.$$

Therefore, the sequence  $\{\frac{1}{k^n}f(k^nx)\}$  is a Cauchy sequence in Y for all  $x \in X$ . Since Y is complete, the sequence  $\{\frac{1}{k^n}f(k^nx)\}$  converges for all  $x \in X$ . So one can define the mapping  $A_k : X \to Y$  by

$$A_k(x) := \lim_{n \to \infty} \frac{1}{k^n} f(k^n x), \qquad (2.15)$$

for all  $x \in X$ . Letting m = 0 and passing the limit  $n \to \infty$  in (2.14) by continuity of  $\|\cdot\|^+$ , we get (2.4).

Now, we show that  $A_k$  is additive. It follows from (3.1), (2.9) and (2.15) that

$$\begin{aligned} \|A_{k}(x+y) - A_{k}(x) - A_{k}(y)\|_{\alpha}^{+} \\ &= \lim_{n \to \infty} \frac{1}{k^{n}} \left\| f(k^{n}x + k^{n}y) - f(k^{n}x) - f(k^{n}y) \right\|_{\alpha}^{+} \\ &\leq \lim_{n \to \infty} \frac{1}{k^{n}} [\varphi(k^{n}x, k^{n}y)_{\alpha}^{+} + \varphi(k^{n}x, 0)_{\alpha}^{+} + \varphi(0, k^{n}x)_{\alpha}^{+}] = 0, \end{aligned}$$
(2.16)

for all  $x, y \in X$ . Therefore, we get that the mapping  $A_k : X \to Y$  is additive.

To prove the uniqueness of  $A_k$ , let  $A' : X \to Y$  be another additive mapping which satisfies inequality (2.4), Then we have

$$\begin{aligned} \|A_k(x) - A'(x)\|_{\alpha}^+ &= \lim_{n \to \infty} \frac{1}{k^n} \|f(k^n x) - A'(k^n x)\|_{\alpha}^+ \\ &\leq \lim_{n \to \infty} \frac{1}{k^{n+1}} \sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_{k,\beta}(k^i x) = 0. \end{aligned}$$

So, A = A'.

**Remark 2.2.** We can formulate a similar theorem to Theorem 2.1 in which we can define the sequence  $A_k(x) := \lim_{n\to\infty} k^n f(\frac{x}{k^n})$  under suitable conditions on the function  $\varphi$ .

We will use following lemma [4]:

Lemma 2.3. Let 
$$\eta, \delta \in F(\mathbb{R})$$
. Then  
(1)  $(\eta \oplus \delta)^+_{\alpha} = \eta^+_{\alpha} + \delta^+_{\alpha}$ ,  
(2)  $(\eta \otimes \delta)^+_{\alpha} = \eta^+_{\alpha} \times \delta^+_{\alpha}$ ,  $\eta, \delta \in F^*(\mathbb{R})$ .

**Corollary 2.4.** Let  $\mu$  be a nonnegative fuzzy real number and p be a nonnegative real number such that p < 1. Let X be a linear space and  $(Y, \|.\|, L, R)$  be a fuzzy Banach space satisfy the (R-1). Suppose that  $f, g, h : X \longrightarrow Y$  are mappings such that g(0) = h(0) = 0 and satisfy the inequality

$$||f(x+y) - g(x) - h(y)|| \leq \mu \otimes (||x||^p \oplus ||y||^p),$$

for all  $x, y \in X$ . Then there exists a unique additive mapping  $A_k : X \to Y$  such that

$$\begin{aligned} \forall \alpha \in (0,1], \ \exists \beta \in (0,\alpha]; \ \|f(x) - A_k(x)\|_{\alpha}^+ &\leq \frac{2\mu_{\beta}^+}{k - k^p} (\|x\|_{\beta}^+)^p \Big(\sum_{j=1}^{k-1} j^p + (k-1)\Big), \\ \|g(x) - A_k(x)\|_{\alpha}^+ &\leq \frac{2\mu_{\beta}^+}{k - k^p} (\|x\|_{\beta}^+)^p \Big(\sum_{j=1}^{k-1} j^p + (k-1)\Big) + \mu_{\alpha}^+ \|x\|_{\alpha}^+, \\ \|h(x) - A_k(x)\|_{\alpha}^+ &\leq \frac{2\mu_{\beta}^+}{k - k^p} (\|x\|_{\beta}^+)^p \Big(\sum_{j=1}^{k-1} j^p + (k-1)\Big) + \mu_{\alpha}^+ \|x\|_{\alpha}^+, \end{aligned}$$

for all  $x \in X$ .

*Proof.* The proof follows from Theorem 2.1 by taking:

$$\varphi(x,y) = \mu \otimes (\|x\|^p \oplus \|y\|^p)$$

and using Lemma 2.3.

# 3. Application of fuzzy stability to the stability of Pexiderized Cauchy functional equation in normed spaces

In this section by using Theorem 2.1, we prove the generalized Hyers-Ulam stability of Pexiderized Cauchy functional equation in normed spaces. Throughout this section, let X be a linear space and Y be a Banach space with norm  $\|.\|_Y$ .

**Theorem 3.1.** Let  $\phi: X \times X \to [0, \infty)$  be a function such that

$$\lim_{n \to \infty} \frac{1}{k^n} \phi(k^n x, k^n y) = 0, \qquad (3.1)$$

for all  $x, y \in X$ , and

$$\sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_k(k^i x) < \infty, \tag{3.2}$$

for all  $x, y \in X$ . Let  $f, g, h : X \longrightarrow Y$  be mappings such that g(0) = h(0) = 0and satisfy the inequality

$$||f(x+y) - g(x) - h(y)||_Y \le \phi(x,y),$$
(3.3)

for all  $x, y \in X$ . Then there exists a unique additive mapping  $A_k : X \to Y$  such that

$$\left\|f(x) - A_k(x)\right\|_Y \le \frac{1}{k} \sum_{i=0}^{\infty} \frac{1}{k^i} \vartheta_k(k^i x), \tag{3.4}$$

where

$$\vartheta_k(x) =: \sum_{i=1}^{k-1} \left[ \varphi(ix, x) + \varphi(x, ix) \right] + (k-1)\varphi(x, 0).$$

for all  $x \in X$ .

Proof. Set  $||y||(t) = \overline{0}(t-||y||_Y)$ ,  $R(a,b) = \max\{a,b\}$  and  $L(a,b) = \min\{a,b\}$ . It is easy to see that (Y, ||.||, R, L) is a fuzzy normed linear space and  $||y||_{\alpha}^{+} = ||y||_Y$  for all  $y \in Y$  and  $\alpha \in (0, 1]$ . It follows from (3.1), (3.3) and (3.2) that

$$\lim_{n \to \infty} \frac{1}{k^n} \overline{\phi(k^n x, k^n y)}_{\alpha}^+ = 0,$$
$$\|f(x+y) - g(x) - h(y)\| \leq \overline{\phi(x, y)}$$
$$\sum_{i=0}^{\infty} \frac{1}{k^i} \overline{\vartheta_k(k^i x)} < \infty.$$

and

$$\varphi(x,y) = \overline{\phi(x,y)}$$

**Corollary 3.2.** Let  $\theta$  and p be nonnegative real numbers such that p < 1. Let X be a linear space and  $(Y, \|.\|)$  be a Banach space. Suppose that  $f, g, h : X \longrightarrow Y$  are mappings such that g(0) = h(0) = 0 and satisfy the inequality

$$||f(x+y) - g(x) - h(y)|| \le \theta(||x||^p + ||y||^p),$$

for all  $x, y \in X$ . Then there exists a unique additive mapping  $A_k : X \to Y$  such that

$$\|f(x) - A_k(x)\| \le \frac{2\theta}{k - k^p} \|x\|^p \Big(\sum_{j=1}^{k-1} j^p + (k-1)\Big),$$
  
$$\|g(x) - A_k(x)\| \le \frac{2\theta}{k - k^p} \|x\|^p \Big(\sum_{j=1}^{k-1} j^p + (k-1)\Big) + \theta \|x\|^p,$$
  
$$\|g(x) - A_k(x)\| \le \frac{2\theta}{k - k^p} \|x\|^p \Big(\sum_{j=1}^{k-1} j^p + (k-1)\Big) + \theta \|x\|^p,$$

for all  $x \in X$ .

*Proof.* The proof follows from Theorem 3.1 by taking:

$$\phi(x, y) = \theta(\|x\|^p + \|y\|^p).$$

References
------------

- T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan, 2 (1950), 64–66.
- S. Czerwik, Functional Equations and Inequalities in Several Variables, World Scientific, New Jersey, London, Singapore, Hong Kong, 2002.
- G.Z Eskandani and Th.M. Rassias, Hyers-Ulam-Rassias stability of derivations in proper JCQ<sup>\*</sup>-triples, Mediterr. J. Math., 10 (2013), 1391–1400.
- [4] C. Felbin, Finite dimensional fuzzy normed linear spaces, Fuzzy Sets and Systems, 48 (1992), 239–248.
- P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl., 184 (1994), 431–436.
- [6] D.H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci., 27 (1941), 222–224.
- [7] D.H. Hyers, G. Isac and Th.M. Rassias, *Stability of Functional Equations in Several Variables*, Birkhäuser, Basel, 1998.
- [8] S.M. Jung, Hyers-Ulam-Rassias Stability of Functional Equations in Mathimatical Analysis, Hadronic Press, Palm Harbor, 2001.
- [9] C. Park, Homomorphisms between Poisson JC<sup>\*</sup>-algebras, Bull. Braz. Math. Soc., 36 (2005), 79–97.
- [10] J.M. Rassias, Solution of a problem of Ulam, Journal of Approximation Theory, 57 (1989), 268–273.

- [11] J.M. Rassias, Solution of a stability problem of Ulam, Discussiones Mathematicae, 12 (1992), 95–103.
- [12] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc., 72 (1978), 297–300.
- [13] Th.M. Rassias, On a modified Hyers-Ulam sequence, J. Math. Anal. Appl., 158 (1991), 106–113.
- [14] S.M. Ulam, A Collection of the Mathematical Problems, Interscience Publ. New York, (1960), 431–436.
- [15] J. Xiao and X. Zhu, Topological degree theory and fixed point theorems in fuzzy normed space, Fuzzy Sets and Systems, 147 (2004), 437–452.